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Texkywmmit konTpoab Nel

®opma kouTpoJsi: KonrponbHas padota (MHpOpMaMOHHO-aHATUTHYECKUN )
OnucaresabHast yacTh: [l1icbMeHHast KOHTpOJIbHAs paboTa
3ananne Nel

3ananue Nel Haiinure B ipaBoii KOJIOHKE PYCCKHE IKBUBAJIEHTHI aHTJIMICKUX CJIOB U CJIOBOCOYETAHUI:
1. spot welding a. gyroBas cBapka

2. hammer welding b. roprounii raz

3. workpiece c. coeAHHSTH

4. arc welding d. nmams

5. butt welding e. razoBast cBapka

6. to create f. TuIaBUTHCA

7. combustible gas g. anekTpuyeckas KOHTaKTHasi CBapKa

8. thermit welding h. coznaBartp

Ne)

. to join 1. cBapka IJiaBJieHUEM

10gas welding j. ky3HeuHas cBapka

11. fusion welding k. Toueunas cBapka

12. fusion state 1. cTeIKOBast cBapka

13. flame m. TepMuTHasA cBapKa

14. electric resistance welding n. pacruiaBaeHHOE COCTOSIHUE

15. to melt o. xerains

Onenka |Ilokasarenu oueHKH

3 BriOpan 7-9 pycckux 35KBUBAJICHTOB, COOTBETCTBYIONTUX aHTJTUHCKUM

4 Bri6pain 10-12 pycckux 3KBUBAJIEHTOB, COOTBETCTBYIOIIUX aHTITMHCKUM

5 Bri6pain 13-15 pycckux sKBUBajJE€HTOB, COOTBETCTBYIOIIUX aHTJIMHCKUM




Saganue No2

3aganue Ne3 [IpounTtaiite TekcT "ARC WELDING" u oTBeThTE Ha BOIIPOCHI.

ARC WELDING

In arc welding the workpieces are not melted by a flame. They are melted by an electric arc. In order to
create the arc, a powerful electric current must be provided. The current must be at least 60 A, otherwise
the arc will not create enough heat For thicker workpieces, the current may be 250 A. In order to carry
this current, the cables from the transformer should be quite thick or else they will overheat. To supply
the necessary current the transformer is used and to complete the electric circuit an earth clamp is used,
which is attached to the workpiece. Then the current flows around the circuit and the arc appears. It must
be securely attached, otherwise an arc will appear between the clamp and the workpiece. To strike the arc,
the transformer should be switched on first. The electrode holder contains, an electrode rod which
provides the filler metal to join the workpieces. As the current flows between the electrode and the
workpiece, the tip of the electrode melts and falls onto the workpiece. The electrode must be moved
across the joint continuously, if it moved too quickly neither the electrode nor the workpiece will melt.

Bomnpocsr

1.How are the workpieces melted in arc welding?

2.How is the arc created?

3.What is the transformer used for?

4.Why must the electrode be moved across the joint continuously?

5.What will happen if the earth clamp is not securely attached?

Onenka |Iloka3zarenu oneHKH

3 OtBetui Ha 3 BoIpoca B COOTBETCTBUM C COAEPKAHUEM TEKCTa
4 OTtBetui1 Ha 4 BOIpOCa B COOTBETCTBHUH C COJEPKAHUEM TEKCTa
5 OTtBeTus1 HA 5 BONPOCOB B COOTBETCTBUU C COJEPKAHUEM TEKCTa
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